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One mark for each correct answers. No negative marks. Put correct option in ( ) 

1 Kerion is a scalp infection by 

a) Bacteria b) dermatophytes c) virus 

2 The causative organism for Herpes Zoster is 

a) Herpex simplex virus - I 

b) varicella zoster virus 

c) Human herpes virus-8 

d) Herpes simplex virus-!! 

d) parasite 

3 Which of the following is not an endogenous eczema 

a) Atopic dermr~titis 

b) Contact dermatitis 

c) Seborrheic dermatitis 

d) Pompholyx 

4 The bacterial load is maximum in this type of leprosy 

a) Tuberculoid 

b) Mid- borderline 

c) Lepromatus 

d) Indeterminate 

( ) 

( ) 

( ) 

( ) 

5 A 20 year old male complaint of burning micturation and purulent - ( ) 

discharge per urethra 2 days after unsafe sex. He is suffering from 

a) Primary syphilis b) chancroid c) secondary syphilis d) gonorrhea 
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